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The following observations was drawn from a normal population whose variance is 100:

12 8 22 15 30 6 39 48
Construct a 90% confidence interval estimate for the population mean. What assumption(s) must

be made? --S -:: IS. U ~
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2. (12%)
A scientist estimate the mean nitrogen dioxide level in West London is greater than 28 parts per

billion. You want to test this estimate. To do so, you determine the nitrogen dioxide levels for 36
randomly selected days. .I!
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State the null hypothesis in symbols and words." a.
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I.f c. Defme the level of significance. ;

Describe in words Type land Type II error in terms of this application. I. 'r ,
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